Language Frames
Unit 6
Kindergarten
Lit 9
[bookmark: _GoBack]_______ and _______ are alike because they both___________.
________ and _________ are different because ____________, but ___________.  
In this story, the character goes/has/finds/etc. _______________.    (Examples: In this story, Goldilocks finds the bears house and gets caught.  In this story, the peddler goes on a walk to sell his hats and the monkeys take them. ) 
1st Grade
Info 5
A (name of text feature) helps me ___________________.
I found my answer in the (name of text feature.)
Lit 9
(character 1 name) and (character 2 name) have a similar adventure/experience when…
Their adventures/experiences are the same because…
Their adventures/experiences are different because…

2nd Grade
Lit 9
A detail in the first version of the story is….
A detail in the second version of the story is…
The versions are similar because they both…
The key details that are in both texts are _________, __________ and __________. 
The versions are different because in the first version ___________, but in the second version __________________. 
The culture makes the story different because….
Info 3
___________ is a signal word that helps me know the order of the text.
Before _____(event)___________, ____(preceding event)____________ happens.
After ___(event)_________________, ____(following event)____________.  
The next event/step is…
_________________ happened before ___________________.

3rd /4th/5th Grades
All review standards.  See previous unit frames.





